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REMARKS

1 fi @, K ® % 38 40 78 11.0 | 67.0
2 fi1 B OIB & 43 | 46 @ 89 17.0 | 72.0
3 5 & M Bh 43 | 41 84 11.0  73.0
4 fi1 o B & — 40 | 44 84 11.0 | 73.0
5 fi1 X & B’ A 35 41 76 20 740 BG
6 fi1 A B & 44 | 40 84 10.0 | 74.0
7 i1 5 IB E M 40 | 41 81 6.0 | 75.0
8 fi1 B B # BH 40 | 42 82 7.0 | 75.0
9 fi1 F B =1 43 | 41 84 9.0 | 75.0
10 I H FOE 39 | 42 81 5.0 76.0
11 i1 = 3 * M’ 40 42 82 6.0 76.0
12 fi Z/ S /- A 44 39 83 6.0 77.0
13 fiI B/ H - S 42 48 90 13.0 77.0
14 fiI =" B F 1 40 42 82 4.0 78.0
15 fi1 B H B X BB 42 41 83 5.0 78.0 RE
16 fiI Zz R M 50 44 94 16.0 78.0
17 i1 § i1} = 42 40 82 3.0 79.0
18 fiI =I5 g 1 45 43 88 9.0 79.0
19 fi LI ! R - 41 44 85 5.0 80.0
20 fi1 B % x @A 42 42 84 3.0 81.0 RE
21 fi B H ® B 41 47 88 7.0 81.0
22 fi R H 7 = 42 43 85 3.0 82.0
23 fi1 i 8 & 44 47 91 9.0 82.0
24 i1 Bt i B A 41 50 91 7.0 84.0
25 fi] =" B 7] 47 48 95 11.0 84.0 MRE
26 i1 # E E S 46 46 92 7.0 85.0
27 {1 b A3 = 50 52 102 17.0 85.0
28 {1 *? B X B 48 50 98 7.0 91.0




IN GROSS HDCP NET REMARKS

1 i1 w R O — BP 43 38 81 15.0 66.0
2 1 1] H F 39 41 80 13.0 67.0
3 fi F B 5 - 45 48 93 26.0 67.0
4 {11 B K # h 42 42 84 16.0 68.0
5 fiI B 5 In =% 43 46 89 21.0 68.0
6 fiI /T VAN 36 42 78 8.0 70.0 BG
7 i1 # 5 X & = 43 40 83 13.0 70.0
8 fi ® & b= - 44 42 86 15.0 71.0
9 fiI = = 73 42 45 87 16.0 71.0
10 fi1 & F # = 44 44 88 17.0 71.0
11 i Mm @A g 3 39 44 83 11.0 72.0
12 i1 F OB B & 40 45 85 13.0 72.0
13 i1 # XK & B 47 49 96 24.0 72.0
U Xivi x & B #® 43 42 85 12.0 73.0
15 i1 = & m X 44 a1 85 12.0 73.0
16 {i1 = # i 42 45 87 14.0 73.0
17 fiI K 8 % 48 46 94 21.0 73.0
18 fi 5 H J5 S ;£ 42 44 86 12.0 74.0
19 fi1 &1 g Z 41 52 93 19.0 74.0
20 fiI J U] =z - 43 43 86 11.0 75.0 RE
21 ;S| = B 47 46 93 18.0 75.0
22 i A [ 5 51 49 100 25.0 75.0
23 fiI mo X B & 45 46 91 15.0 76.0
24 fi1 B ] £ 43 49 92 16.0 76.0
25 fi1 == B% Z 47 46 93 17.0 76.0 RE
26 fiI B x5 41 46 87 10.0 77.0
27 {1 fm K s X 45 43 88 11.0 77.0
28 fil Mo H a = 48 41 89 12.0 77.0
29 fi1 73 S E & 43 48 91 14.0 77.0
30 fi B g = 45 43 88 10.0 78.0 RE
31 fiI = - — 45 43 88 10.0 78.0
32 i [l J£3 T 50 51 101 23.0 78.0
33 fiI o) i = 44 47 91 12.0 79.0
34 i1 £ B "R 46 47 93 12.0 81.0
35 fi1 5 H £ W 48 48 96 15.0 81.0 RE
36 fi1  H E % 45 44 89 7.0 82.0
37 fiI BB x - 48 48 96 14.0 82.0
38 {1 N B B 8 47 50 97 14.0 83.0
39 fiI Vi = £ F 49 52 101 16.0 85.0
40 fi1 n B IE 52 49 101 16.0 85.0 RE
41 {u ) B % 52 54 106 15.0 91.0




ouT IN GROSS HDCP NET REMARKS

1 i1 ¥ H F = 37 35 72 6.0 66.0 BG
2 i1 BE B = 5 40 39 79 13.0 66.0
3 i1 X [1i7] & 38 a1 79 12.0 67.0
V' Rivi 7 F B - 42 a1 83 16.0 67.0
5 {11 M B & ®M F 42 43 85 17.0 68.0
6 fi1 E % P2 S 42 44 86 18.0 68.0
7 i1 E H = B 38 a1 79 10.0 69.0
8 fi = = itE 42 44 86 17.0 69.0
9 i K E p: J— 46 45 91 22.0 69.0
[ Kivi T 8% I 46 46 92 23.0 69.0
11 i = = Tk 46 46 92 23.0 69.0
12 fi] (== I | 8T 2 48 43 91 21.0 70.0
13 il =) iR e 0 42 38 80 9.0 71.0
14 i1 = 15 S BA 44 38 82 11.0 71.0
15 {iI BA a i ES 43 44 87 16.0 71.0 RE
X = 1L A0 13 44 46 90 19.0 71.0
17 il [N B =3 1& 42 37 79 7.0 72.0
18 fiI i W35 i 1F 41 43 84 12.0 72.0
19 fiI X =X m x 43 43 86 14.0 72.0
20 fiI 2 5 1F GIN 44 44 88 16.0 72.0 RE




